## **BROMSGROVE DISTRICT COUNCIL**

## (OFF-STREET PARKING PLACES)

## ORDER 2017

## SCHEDULE 1 – PAYMENT PARKING PLACES

Name of parking place	Special classes of vehicle (if any)	Days of operation of parking place	Charging days and hours	Scale of charges	Maximum waiting period allowed	Minimum time in which return is prohibited (7)
(1)	(2)	(3)	(4)	(5)	(6)	
Aston Fields Car Park	<ol> <li>Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984</li> <li>Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or</li> <li>Any other class of vehicle as specified in column 2 of Schedule 1.</li> </ol>	All days	08.00 – 22.00 All days	No charges [Note: Display of timed pay and display ticket required]	2 hours	No return within 2 hours

Churchfields Multi Storey Car Park	<ul> <li>Levels 1 and 2;</li> <li>1) Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984</li> <li>2) Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or</li> <li>3) Any other class of vehicle as specified in column 2 of Schedule 1.</li> </ul>	All days	08.00 – 19.00 Monday to Saturday (excluding Bank Holidays) 09.00 – 16.30 Sunday and Bank Holidays	Up to 30 minutes £0.40 Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 All day £3.00	N/A	N/A
	Levels 3,4,5, and 6; vehicles not in excess of 3 tonnes.					
	1)					
New Road Car Park	<ol> <li>Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984</li> <li>Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or</li> </ol>	All days	08.00 – 22.00 All days	Up to 30 minutes £0.40 Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 All day £5.00	N/A	N/A

		Any other class of vehicle as specified in column 2 of Schedule 1					
Parkside Car Park	1)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or	All days	08.00 – 22.00 All days	Up to 30 minutes £0.40 Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 All day £5.00	N/A	N/A
Parkside Offices Car Park	1) 2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or	All days	All days 00.00 – 23.59	(i) Parking bays – permit holders only	(i) no maximum waiting period for permit holders	N/A

		Schedule 1.					
School Drive Car Park	1) 2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1	All days	08.00 – 22.00 All days	Up to 30 minutes £0.40 Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 All day £5.00	N/A	N/A
Stourbridge Road Car Park	1) 2) 3)		All days	08.00 – 22.00 All days	Up to 30 minutes £0.40 Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 All day £5.00	N/A	N/A
Recreation	1)		All days	08.00 - 22.00	Up to 30 minutes £0.40	N/A	N/A

Road South	2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1		Monday to Saturday (excluding Bank Holidays) 09.00 – 16.30 Sunday and Bank Holidays	Up to 1 hour £0.80 Up to 2 hours £1.60 Up to 3 hours £2.40 Up to 4 hours £3.20 Up to 5 hours £4.00 Up to 8 hours £6.40 Up to 11 hours £8.80 Up to 14 hours £11.20		
Windsor Street	1) 2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1	All days	08.00 – 22.00 All days	Up to 30 minutes £0.50 Up to 1 hour £1.00 Up to 2 hours £2.00	2 hours	2 hours
	1)						
Catshill Car Park	1)	Motor vehicles and motor cycles all as defined in the	All days	00.00 – 23.59 All days	No charges	2 hours	2 hours

	2)	Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1					
Alvechurch Car Park	1) 2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1	All days	00.00 – 23.59 All days	No charges	N/A	N/A
Alvechurch Sports and Social Club	1)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984	All days	00.00 – 23.59 All days	No charges	2 hours if parked between 08.00 to 19.00 Monday to	For vehicles not displaying a club membership sticker, or a

	3)	Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of Schedule 1				Saturday except for vehicle clearly displaying a club membership sticker at the time of parking during club opening hours or vehicle clearly displaying a permit for this car park at the time of parking.	permit, no return within 2 hours
Aston Road (Part) Car Park	1) 2) 3)	Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984 Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or Any other class of vehicle as specified in column 2 of	All days	00.00 – 23.59 All days	No charges	N/A	N/A

	Schedule 1					
Sanders Park Car Park	1) Motor vehicles and motor cycles all as defined in the Road Traffic Regulation Act 1984	All days	00.00 – 23.59 All days	No charges	N/A	N/A
	<ul> <li>2) Motor vehicles not exceeding 1.5 tonnes unladen weight constructed or adapted solely for the purpose of carrying goods; or</li> <li>3) Any other class of vehicle as specified in column 2 of Schedule 1</li> </ul>	5				